Y

&\\\ ,
Roll Number SET C
INDIAN SCHOOL MUSCAT
FINAL EXAMINATION
SCIENCE
CLASS: X Subject Code: 086 Time Allotted: 3 Hrs.
23.01.2021 Max. Marks: 80

General Instructions:

(i)  The question paper comprises four sections A, B, C and D. There are 36 questions in the
question paper. All questions are compulsory.

(ii)  Section-A - question no. 1 to 20 - all questions and parts thereof are of one mark each.
These questions contain multiple choice questions (MCQs), very short answer questions

and assertion - reason type questions. Answers to these should be given in one word or one
sentence.

(iii) Section—B - question no. 21 to 26 are short answer type questions, carrying 2 marks each.
Answers to these questions should in the range of 30 to 50 words.

(iv) Section—-C - question no. 27 to 33 are short answer type questions, carrying 3 marks each.
Answers to these questions should in the range of 50 to 80 words.

(v)  Section—D — question no. - 34 to 36 are long answer type questions carrying 5 marks each.
Answer to these questions should be in the range of 80 to 120 words.

(vi) There is no overall choice. However, internal choices have been provided in some
questions. A student has to attempt only one of the alternatives in such questions.

(vii) Wherever necessary, neat and properly labeled diagrams should be drawn.

SECTION - A

1. Identify the substance that is oxidised and reduced in the reaction:

CuO (s) +Zn (s) — Cu (s) + ZnO (s) '

OR

Write the balanced chemical equation for the reactions that takes place during respiration.
2. Name two substances which can be used as olfactory indicator.
3. How will you test for the gas which is liberated when hydrochloric acid reacts with an active

metal?
4."  What is the nature of the image formed by a concave mirror if the magnification produced by the

mirror is +27?
5. Why does the sky appear dark to astronauts?
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10.

11.

12.

13.

For question numbers 14, 15 and 16, two statements are given- one labeled Assertion (A) and the other labeled

Find the power of a concave lens of focal length 2m.

1 OR
Between which two points of a concave mirror should an object be placed to obtain a
magnification of -3?

State Fleming’s Right hand rule. ' |
What kind of magnetic field is produced by a current carrying solenoid?

What happens to the resistance of aﬁwire if it 1s made thinner?
) OR |
How is voltmeter connected in the circuit to measure the potential difference between two points?

The wall of trachea is supported by cartilage rings. Give reason.

Name the following
a) Cells that surround a stomatal pore
b) Organism that cannot prepare their own food.
1 OR
How are viruses living when they do not show movements?
Give reason why a food chain cannot have more than four trophic levels.
o OR
Define food chain. |

Explain the process of breakdown of glucose in a cell
(1) In the presence of oxygen,
(i1) Inthe absence of oxygen.

Reason (R). Select the correct answer to these questions from the codes (a), (b), (¢) and (d) as given below
a) Both A and R are true, and R is correct explanauon of the assertion.

b) Both A and R are true, but R is not the correct explanation of the assertion.
c) A is true, but R is false,

d) A is false, but R is true.

14.

15.

16.

Assertion: According to Mendeleev, periodic properties of elements are periodic function of thelr
atomic number. |

Reason: Atomic number is equal to number of protons.

Assertion: A network of food chaini‘existing together in an ecosystem is known as food web.
Reason: An animal like kite cannot be a part of food web.

Assertion: Mendel choose pea plants for his experiment

Reason: Pea plants were the only pliants he could gather for his experiment.

Answer Q. No 17 - 20 contain five sub-parts each. You are expected to answer any four subparts in these

questions.
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17.

Resp1rat0ry disease causes an immense worldwide health burden. It is estimated that 235 m1111on 1x4 |

people suffer from asthma, more than 200 million people have chronic obstructive pulmonary :
disease (COPD), 65 million endure moderate-to-severe COPD , more than 100 million adult
population experience sleep disordered breathing, 8.7 million people develop tuberculosis (TB) k
annually , millions live with pulmonary hypertension and more than 50 million people struggle =
with ocdupational lung diseases. At least 2 billion people are exposed to the toxic effects of
biomass fuel consumption, 1 billion are exposed to outdoor air pollution and 1 billion are exposed
to tobacco smoke. Each year, 4 million people die prematurely from chronic respiratory diseasﬁe.j !
Infants and young children are particularly susceptible. Nine million children under 5 years of age
die annually and lung diseases arei the most common causes of these deaths. Pneumonia is th§ :
world’s leading killer of young children. Asthma is the most common chronic disease, affectiné
about 14% of children globally and is still rising. COPD is the fourth leading cause of death
worldwide and the numbers are growmg The most common lethal cancer in the world is lung‘
cancer, which kills more than 1.4 million people each year, and the numbers are growing|
Respiratory tract infections clause‘d‘ by influenza kill 250 000-500 000 people and cost 71-167
billion US dollars annually. Respiratory infections are ranked as the greatest single contributor to ]
the overall burden of disease in the world. |

i) Which one of the fc‘)lilowing is not a respiratory disease?
a) Asthma
b) Pneumonia
- ¢) Typhoid
- d) Emphysema ‘
ii) Smoking will affec;c
~a) Transport of okygeniby red blood cells
b) Transport of carbon d1 oxide by blood plasma
- ¢) Awvailability of oxygén to tissues
d) Bothaandc. -
iii) The common respiratory illness j‘children suffer from is
a) Emphysema b) jLung ican‘cer ¢) Pneumonia d) Cholera

iv) The respiratory disorder in Wthh inflammation of air sacs in lungs takes place is called:
a) Pneumonia |

b) Asthma L ‘ :‘
¢) Bronchitis

d) None of these
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18.

19.

V) isthe main reason for i ing reasing respiratory illness.
a) Sedentary life style.
b) use of automobiles
¢) lack of exercise

d) all the above.

Observe the data given in the table and answer questions based on table and related concepts.

Ionisation energy is energy requrrecl to remove an electron from an isolated gaseous atoms. It
helps to decide tendency to lose electrons Electronegativity depends upon tendency to attack
shared pair of electron towards 1tselﬁ.

ELEMENTS lONlSATION ELEMENTS ELECTRO
Group 1 ENERGY Group 17 NEGATIVITY
L 520 kj mol-1 F» 4.0
" Na 496 kj mol -1 Cl 3.2
K 419 kj mol -1 Br, 2.9
. Rb 403 kj mol -1 I, 2.6
- GCs 374 kj mol -1
i) Arrange group 1 elements in thel ilpcreasing order of reactivity.
i) Name the liquid element i in group 17

iii) Which is the most electronegatgye element in group 17?
iv) Whatlhappens to the tendency to lose electrons down the group?
v) What type of compound w111 be formed between Na and Br,?

Read the following and answer anv fou_qgestlons from 19 (i) to 19 (v) L ilx4
A continuous conducting path between the terminals of a source of electric energy and other o
electr1cal components along which Lthe electric current flows is called an electric circuit. Types of
electric circuits.1.Closed electr1c cl11;cu1t 2. Open circuit. -
Electric current is expressed by the amount of charge flowing through a particular area in umt
time. In an electric circuit the drrecTuon of electric current is taken as opposite to the direction of ‘ .
the flow of electrons. o . ‘

The SI un1t of electric charge is coulomb which is equivalent to the charge contained in nearly 6
X 10 electrons Ammeter is a devrce used to measure electric current in an electric circuit. ‘
(i) A charge of 100 C flows through a bulb in 5 minutes. How much current is flowing through
the bulb? .

(a) 500 A (b) 100 A X ()20 A ()03 A ,
(ii) A circuit has a charge of 21 C movmg through it in 30 s. Which electrical component in the ‘
circuit, 1f present, will show the current? o

(a) Voltmeter will show a current of 6 A.

(b) Ammeter will show a current iof 0.7 A.

(©) Rheostat will show a current of 0.7 A.

(d) Re§1stor will show a current, of 0.35 A.
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20.

(i) How many electrons can pass. through an electric lamp in one minute if the Current is

300mA? (1.6 x 107°C)

(a) 1.125 x 10
(b) 1.125 x 10"
() 1.125 x 10"
(d) 3.125 x 10%
(iv) A conductmg wire carries 1021
the wire? .
(a) 40 A (b) 7 A
v)A current of 0.5A is drawn by a
the amount of electric charge th
(a) 150C
(b) 300C
(c) 600C

electrons in 4 minutes. What is the current flowing through o

©4A () 0.7 A
ﬁlament of an electric bulb for 10 minutes. Find
at ﬂows through the circuit.

(d) 500C

Read the following and answer anv four questions from 20(i) to (v)

Light scattered by fine particles whose size is comparable to the wavelength of light. This can be
demonstrated by a simple experlment A few drops of sulphuric acid are added to a glass tank
contalnlng Sodium thio Sulphate solution. An intense beam of white light is passed through the :

tank and the emergent beam allowe
precipitated in the form of tiny parti
indicatinig that the blue and violet ¢
(i) The d«fmger signals installed at th

from a distance because amohg all other colours, the red light can be

because among all other colours th
(a) is scattered the most by smoke o
(b) is scattered the least by smoke | o

d falling on a screen. Due to the action of the acid, Sulphur is
cles. The emergent beam is found to be orange —red in colour'
lour are removed from white light by scattering. M
e top of tall. towers are red in colour. These can be easily seen‘ 31
seen from a distance |
e red light oo
r fog

r fo:‘g

(c)is absorbed the most by smoke 0

r fog
(d) moves fastest in air .

(ii) The clear sky appears blue because

(a) blue hght gets absorbed in; the, atmosphere

(b) u1trav1olet radiations are absorbed m the atmosphere L
(©) V1olet and blue lights gets scattered more than the lights of other colours by the atmosphere N /

(d) hghts of all other colours is scattered more than the violet and blue colour lights by the
atmosphere ‘

(ii1) Twmkhng of stars is dueto atmospherlc
(a) dlspersmn of light by water 'droplets
(b) refraction of light by different layers of varying refractive indices.
(c) scattering of light by dust particles

(d) internal reflection of light by clouds

L
Pl
i
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21.

22.

23.

24.

25.

26.

27.

(iv) Scat‘éering caused by micnoscdpic solid particles suspended in a liquid or gas is called
(a§ Dispersion - ‘ :
(b) Atmospheric refractlon
(c) Raman effect
(d) Tyndall effect

(v) Cloud appears white because| |
(a) light is scattered the least |
(b) red colour is scattered the rnost
(c) Blue colour is scattered the tﬂlost ‘ cnn
(d) all the colours of the white light are scattered equally ‘ ‘i 1

'\ SECTION-B
a) Give the function of network of c\apillaries on alveoli.
b) Mention the two signiﬁcanee of transpiration.

| : | OR
a) What are the two important functions of kidney?

b) Why capillaries are thin walled? |

The rate of breathing in aquatic org nisms is much faster than in terrestrial organisms. Give
reasons .

(a) Explaln the formation of ionic compound CaO with electron dot structure. j 2
(b) Name the ions present in this compound L
i OR

What are amphoteric oxides? lee one example with the help of a chemical equation

What is homologous series of carbon compounds? Write the next homologue of CoHy.
‘ | |

How can; three resistors of re51stances 2Q, 3 Q and 6Q be connected to give a total resistance of
()4 Q, (b) 1 Q? g i |
Define the term dispersion of White ligbt. What is the cause of dispersion of white light?
Name the colour of light Wthh bends (i) the most, (ii) the least, while passing through a glass |
prism | -

SECTION - C

The gene type of green stemmed tomato plants is denoted as GG and that of purple stemmed . 3
tomato plants as gg. When these two are crossed: mEN

a) What color of stem would you expect in F1 progeny?

b) lee the percentage of purple stemmed plants if F1 are self-pollinated?

c) In what ratio would you ﬁnd the gene types GG and Gg in F2 progeny?
| OR

Only Varjation that confer and advantage to an individual organism will survive in a populatlon
Do you a%gree with this statement? Justify your answer with an example.
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28.

29.

30.

31.

32.

33.

34.

35.

\
a) Differentiate between the fo
~levels.

b) Why are plastics non- blodegradable substances?

od habits of organisms belonging to first and second trophic 23

Explain Where and how urrne is produqed‘7 o 3 |

(a) erte the essential cond1t1c 1
ZAgBr —2Ag+Br
Wrrte one application of ttr's

(b) What happens when water’i

A student was given Mn, Zn, Fe anc

\ for the following reaction to take place:

reaction i
s added to! quicklime? Write chemical equations.
1 Cu metals. Identify whrch of them :-

a) Wﬂl not display H, from dil; H(
b) Will react only with steam to give Hy (g).
c) erl give Hp with 5% HNOg. | ‘

Write the chemical reaction involve

HCL

d.

(a) What are covalent compounds?i et 3

(b) erte any two differerices b

ctween Covalent and Ionic compounds.

‘ D[raw the possible structures of ﬁsomers of butane 10T
(a) State the laws of refractron of hght? i = -3
(b) Draw a labelled ray diagram to show the path of light when two identical glass prisms are s ‘
arranged together in inverted posmon w1th respect to each other and a narrow beam of white hght g

is allowed to fall obliquely on one\df the faces of the prisms.

?
;

i

(a) Three resistors of 5 Q, 10 Q arrd
to battery of 30 V. Ammeter and V(
to connect all the devices in proper
d1fference across 10 € res1stance‘7t

SECTION -D

15 Q are connected in series and the combination is connected
)ltmeter are connected in the circuit. Draw a circuit dlagram
correct order. What is the current flowing and potent1a1

(b) A set of ‘n’ identical res1stors each re51stance R are connected in series and the effective

res1stanc= is found to be ‘X’. When
found to be ‘Y’. Find the ratio of X

these are connected in parallel, the effective resistance is

,‘andY.
IR

|
I

(a) Draw the pattern of magnetic fi eld hnes through and around a current carrying loop of w1re

Mark the direction of (i) electrrcrcur{rent in;the loop (ii)'magnetic field lines.
(b) How would the strength of ma Jnetlc field due to current, carrying loop be affected if
(i) radius of the loop is reduced to half its orrgmal value? |

(ii) strength of current through the

(a) A sulphate salt of Group 2 e

- open for some time, it rbecon
- Identify the sulphate salt. W
(b) What is water of crystallisat

H
i

f . Page7o0f8

pop is doubled?

lement of the periodic table is a white, soft substance, Which o 5

can be moulded into different shapes by making its dough. When this compound is left i 1n

nes'a solid mass and cannot be used for moulding purposes. |
hy does it show such behaviour? Give the reaction involved. '
jon? Give one example.




N
|
- | . |OR
(a) Write the formula and chemjcal name of bleaching powder.
(b) Write the equation to represent ;the preparation of the above salt. :‘
(c) What is baking soda chemically called? Give reaction involved in its preparation. Write, i
- one of its uses. . N o o b
1 Name the hormones, which is re sponfsible for ﬁramatic cilanges in appearance in girls as well a 5 :
in boys when they approach 10-12 years of age. o ‘
2. Why is fertilization not possible without pQIlination? Mention any two advantages of vegetative
propagation in plants. . n |
3. List two functions of ovary|of human female reproductive system.
I n |
1 Lo
End of thé Question Paper
| ‘ ‘
o
’; o
:: i
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